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Slejemraer : (1) Smasg lamsseErd sflwns udeurdl o drarsm eramugmer FilLITTSSE
Qametara|b. FaliLgleler GammullmLber oamms SemrsmewtumeTilLLb
2 | amqwings Gghelssea|h.
(2) Beod @wg HHUL awuleamer LI HGWL TgausHEGL LWaTLHSS
Ceuar(hidb. UL MBIGET auenFaugsn@Gh, Hiq&ECasTyheusH@Hln O Lersle
LT (NS SeLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

L@ - I/PART - I
GO : () S lamEsErs@&h ellanlweflésey. 15x1=15
(ii) Gar@ssuul_(herer wrom el safler Wseyd ghyemw allenLenuis
CambOs(hss16 GOHUILHLer eleLulearyd Caigg e (psawb.
Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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1. Gurmsggs :
(1)  er&Car By seflGuen (i) umeve.CuleamL GCsrssd jbag BaEse
(2)  erarGLmr HluysemCuien (ii) DNA giar(h&emeT @)enarsse

(3) widsmean LmavsL.ul GLay (i) mefliL@duie DNA -amel g s
(4) @oGsav (iv) DNA -eneu pHadler giawriqSse

(=1) (1)-(), (2)-(ii), (3)-(), (4)-(iv)

(=) (1)-(), (2)-(), (3)-(iii), (4)-(iv)

(&) (1)-Gid), (2)-(v), (3)-(), (4)-(ii)

(FF)  (1)-(ii), (2)-(iv), (3)-(id), (4)-()

Match the following :

(1) Exonuclease (i) add or remove phosphate
(2) Endonuclease (ii) binding the DNA fragments
(3) Alkaline Phosphatase (iii) cut the DNA at terminus
(4) Ligase (iv) cut the DNA at middle

(&) (1)-(1), (2)-(iii), (3)-(ii), (4)-(iv)
(b)  (1)-(1), (2)-(ii), (3)-(iii), (4)-(iv)
(c) (1)-(iid), (2)-(iv), (3)-(1), (4)-(ii)

(d)  (1)-(iid), (2)-(iv), (3)-(i1), (4)-(1)

2.  fslpuy wrugnsseier LnsGamHm eSS0
(=24)9:7 (<=4)9:3:3:1 (@) 9:3:4 (FF) 9:6:1
The phenotypic ratio of complementary genes :

(a) 9:7 () 9:3:3:1 (c) 9:3:4 (d 9:6:1
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“@BdHw Lsmw LIl suler shens’
(1) Dr. M.O. UTT$SETTS (<) Dr. aui&ev G Mwen
(@) Dr. M.S. seumdprger () Dr. M.S. suflprger

“The Father of Indian Green Revolution” is :

(a) Dr. M.O. Parthasarathy (b) Dr. Verghese Kurien
(c) Dr. M.S. Swaminathan (d) Dr. M.S. Sabarinathan

Quenr CsLL L &5 sreursdler (pse Caa 6rg ?

(<) mair oil5g)

(<) e Hlevaw s@mapaim e

(@) eLsw

() Qeweu@b QuEmeilsg

Which one of the following is the first cell of female gametophyte ?
(a) Microspore

(b) Primary endosperm Nucleus

(c) Nucleus

(d) Functional megaspore

Camev UhmGCrrenw Slafs@gn Hlapey cueflar_ey eumyy @&Genmey
sTyewTons eFHU(HE D).

(1) ewpLrey < samaen(H (<=),) wCGwreflwum
(@) @Carer (rF) S5Csen

Depletion of gas in the atmosphere can lead to an increased incidence
of skin cancer.

(a) Nitrous oxide (b) Ammonia

(c) Ozone (d) Methane
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6. SpSsaTL eTh amentlen B sreurmsEhs@GL LweaTUhEng ?
(=1) piameol B (<) yelfl Ly Bir
(&) myuug b () Geudulwe Gevanriiy Sir
In soil, water available for plants is :

(a) Capillary water (b) Gravitational water

(c) Hygroscopic water (d) Chemically bound water

7. CaursLemeouder Apln9 o :

(<=1) au QwhEsT (<) el Lien LiGsTan
(8) 9Gréle () pdlur
Groundnut is native of

(a) North America (b) Philippines
(c) Brazil (d) India

8. Ln@wfer ey @ewrgsredlen AL Lb :
(=) Gzer GwhssT, Sifev
(=) @9MEs QeulitweT_els L@

(@) @pglun L@

() OgemeatpHwim, heomism
Tamarindus indica is indigenous to :
(a) South America, Greece

(b) Tropical African region

(c) India alone

(d) South India, Sri Lanka




10.

11.

5
gmeurdla eueriided Sl ihggib srreiwrsl uwearu®hgslu(heug :
(<) EDTA (<) H&ECamigaflls ol
(@) s (/) Gamumerl Lev @&Geatmenr(

Solidifying agent used in plant tissue culture is :
(a) EDTA (b) Nicotinic acid

(c) Agar (d) Cobaltous chloride

TeurmseT SmbuL ealsCsisans el g Bin eefldsdlismer misdlearmer ?
(<=1) Poold OHMLD LFenF (<) Povid wHMD Heuliy

(@) uFens wLHMD @erd Feully () Fleuliy wLHMD LFDHF

For efficient photosynthesis which colours of light are absorbed by the plants ?

(a) Blue, Green (b) Blue, Red

(c) Green, Pink (d) Red, Green

YemeumeuameupmieT 6rgl rlw CFiiSuler sflwrer euflengerwis Gn&SHng ?
(1) RNA — Lgsib — DNA (=),) DNA — RNA — L7sLd

(@) yrsb — RNA — DNA () RNA — DNA — 4psld

Which one of the following represents the flow of genetic information ?
(a) RNA — Protein —» DNA () DNA — RNA — Protein

(c) Protein - RNA — DNA (d) RNA — DNA — Protein

6632
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12. “Gaull(hser eruCumipgib seoliuiflgerts @ @mLUuSldame” eTebd sgmm :
(<=1) safidgs dilse il (=) @rag &g
(@) @ewlbeors smeynige ald (rF) srmlendl eHBEGs0 9
“Gametes are never hybrid”. This is a statement of :

(a) Law of Segregation (b) Law of Dominance

(c) Law of Random Fertilization (d) Law of Independent Assortment

13. OdsrLss @hlwer eTarug) :
(<) UAG (<) UUU (@) AUG (%) UGA

Initiation Codon is :

(a) UAG (b) UUU (c) AUG (d) UGA

14. Qg afeflibupm smeper Sa srerrliLiheus)
(1) eumedlevGrilwm (=) Carasen
(&) =rméélav (FF) oflssr sl és
Ruminate endosperm is found in :

(a) Vallisneria (b) Cocos

(c) Arachis (d) Areca catechu

15. QuGLrUgaidlev ererug) :

(=) 2uifg Ugrens (=) Qgmeog)uili Lilgalld
(&) b (rF) wewr

Pedogenesis refers to :

(a) Population (b) Fossils

(c) Water (d) Soil




7 6632

U@ - II/PART - II

GO : eTemeuCuenid gm efarrés@ErsE wL(Hb el wellssea)b. elerm eram

24 -5@ sL_Lmuwns ol welésa|. 6x2=12
Note : Answer any six of the following questions. Question number 24 is
compulsory.

16. amengCrme.L46adl eratmmed crevmer ?

What is Cantharophily ?

17. QuerLdwseams wn ey Celig sarLdbs Sidlelwud idleprsater CLwmsmaT
CT(LPSIS.

Give the names of the scientists who rediscovered Mendelism.

18. wrugm&GeTCer Bl GenL FolFuie) erammmed cranear ? LD QL FOlFLIEHmaT

Um&LIL(HNSSS.

What is intragenic gene interaction ? Classify gene interaction.

19. WLIUEY GUMTLILLD GTEIMITE) GTET6T ?

What is gene mapping ?

20. pBR 322 -&T UL LD aUes.

Draw the structure of pBR 322.

21. 2 L & SOUIRTIOTESD GTETDTE GTET6T ?

What is Somatic Hybridization ?
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22. cllengLiLbgl GTETMTE) GTETeT ?

What is seed ball ?

23. s 27l und GO euamrs.

Write a note on green manuring.

24. ahs @@ Slliuaml dasrarensser o ullmerer srauy Geosafen o drerTihbg)
srenrliL(h& g ?

Which of the two phenomena are considered as inherent capacities of living plant

cell ?

U@ - III/PART - III

@MUY : eTemeuCGuiegnd gym farrés@ps@ LI (Hb el wellssea)b. elerm eram

33 -8 sLLnuwns el welléseb. 6x3=18

Note : Answer any six of the following questions. Question number 33 is
compulsory.

25. @l (g wHnb uFHwdl o — Camubhss)s.

Differentiate Grafting and Layering.

26. GQuwullear wigwSSHer cUmSSMET LILLD aUTS.

Draw diagram of different types of aneuploidy.

27. HTEPLD LHMLD UTOTSGSLD GTETDHTE) GTETE ?

What is meant by Capping and Tailing ?




28.

29.

30.

31.

32.

33.
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UgD rHOULL L 2 eredlle BETa&ET WHNID SOGENET 6T(LHHIs.

Write the benefits and risks of Genetically modified food.

HSw srh elerrien Crrésmser wremael ?

What are the objectives of afforestation ?

Gpblevaudlwe v blaneser eremmmed eremen ? LieGeum @pblencouduied Ligblenav-

SEET 6T(LDG)IS.

What is Ecological Hierarchy ? Name the levels of Ecological hierarchy.

wamelarsang GCobuhsgeude mearanuifl o | gaisdlaer ereueumm Liwier( -

Sesmer ?

How are microbial innoculants used to increase the soil fertility ?

<O Gyl eriCumgid Crrmaranal. STFETLD Jnm)is.

Pyramid of energy is always upright. Give reasons.

Caumu(BsaIs - SMHemSsHeT wHmID CFwnHans cllensser.

Differentiate Embryoids and Artificial Seeds.
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L@ - IV/PART - IV
@MU : Sjemensg alamss@rsEn ellanwelldsab. 5x5=25

Note : Answer all the questions.

34. (=) Gedler LLLD auanhgl LIMSHEIGEETS &ml&sHe, .
S|6060F)
(<=,) smeur eulpenm eueTidSludlen (PSSHWSFIOIBISMET 6T(LHS)IS.
(a) Draw the structure of ovule and label it.

OR

(b) Write the significance of plant succession.

35. (=) usmisamils U g UTTLUTNWSMS T(HSSSST(HL6r CeuaflEbsmeanTis.
S|6060F)
(=) sraurmsefles RNA gmssmigamer alleull&saLb.
(a) Bring out the inheritance of chloroplast gene with example.

OR

(b) Describe RNA Editing in plants.

36. (<) 2w Asmpled I tefweler LwWeTUTHSEMET 6T(LHSIs.
S|6060F)
(=) UGrm_GLmlermev_ eueribe ojLmidlujerer Ligblanegamer adlaufldse,ib.
(a) Mention the applications of Bio-Technology.

OR

(b) Explain the steps involved in Protoplast Culture.
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37. () B upprEGOD STenel UGS G BTG Gl6TdHEE|LD.

38.

S|6060F)
(<) Breump greurmhisaiien cumasmer geT r(HSHSSTL(HEHL6m alefléseayb.
(a) Suggest a solution to water crisis and explain its advantages.

OR

(b) Explain different types of Hydrophytes with examples.

(<) ulhrdumsssde LHw vaTysSsmmsmer o (Heurs@n LHw uullrtumss
QamlomL L (peppmasanerl UL iquiadl(hs.
S|VEVG)
(<) <& womib Caadler QUTmeTTSTT PSS LSHISNS 6T(LHS)IS.

(a) List out the new breeding techniques involved in developing new traits in
plant breeding.
OR

(b) Write the economic importance of Rice and Teak.
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